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1. (a) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛ ¸Ûó¨ÛÛÜÅÛïõÛ•Û©Û …¶Ûé …ÛµÛäÜ¶Ûïõ ¾Û×©ÛÈýÛÛé ˜Û˜ÛÛë.  7 

     …¬ÛÈÛÛ 

  ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛ ÜÈÛÜÈÛµÛ Š°éùÉÛÛé ÍÛ¾Û›ÛÈÛÛé. 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (i) ©ÛÁõÅÛ©ÛÛ ÜÈÛ ¶ÛºõÛïõÛÁõïõ©ÛÛ 

  (ii) ¶ÛÛ¨ÛÛ ¸ÛóÛÜ¸©Û Ü¶Û¨ÛÙýÛ 

  (iii) ¶ÛÛ¨ÛÛïõàýÛ ¾Ûé¶Ûé›÷Áõ¶Ûà ½ÛæÜ¾ÛïõÛ 

 (c) •Û¾Ûé ©Ûé ªÛ¨Û¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? 

  (ii) ïõÛé¸ÛÛëÁéõ¤ø ¶ÛÛ¨ÛÛ ¸ÛóÛÜ¸©Û …é¤øÅÛé ÉÛä× ? 

  (iii) “¶ÛÛ¨ÛÛïõàýÛ ¾Ûé¶Ûé›÷Áõ¶Ûà ½ÛæÜ¾ÛïõÛ ºõïõ©Û ¶ÛÛ¨ÛÛ ¸ÛóÛÜ¸©Û¶Ûà ›÷ ™öé.” ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û 
™öÛé ? 

  (iv) ©ÛÁõÅÛ©ÛÛ …¶Ûé ¶ÛºõÛïõÛÁõïõ©ÛÛ ÍÛ×–ÛÌÛÙ¾ÛÛ× …ÛÈÛ©ÛÛ Š°éùÉÛÛé ™öé ? ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û    
™öÛé ? 

 

2. (a) “¶ÛÛ¨ÛÛ¶Ûä× ÍÛ¾ÛýÛ ¾ÛæÅýÛ” …×•Ûé¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  7 

    …¬ÛÈÛÛ 

  “›Ûé”Û¾Û …¶Ûé ÈÛÇ©ÛÁõ” ¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (i) ÍÛÛ¾ÛÛ¶ýÛ ÈýÛÛ›÷¶ÛÛé þùÁõ ÍÛ¾Û›ÛÈÛÛé.  

  (ii) ¡×öïõÛÁõ ÜÅÛ.¶ÛÛ ¼ÛÛé¶¦ø þùà¥ø Ýïõ¾Û©Û ` 180 ™öé. ¼ÛÛé¶¦ø¶Ûä× þùÛÉÛÙÜ¶Ûïõ ¾ÛæÅýÛ ` 200 …¶Ûé ïäõ¸Û¶Û þùÁõ 
14% …¶Ûé ¸ÛÜÁõ¸ÛïõÈÛ©ÛÛ ÍÛ¾ÛýÛ 6 ÈÛÌÛÙ¶ÛÛé ™öé. ¸ÛÜÁõ¸ÛïõÈÛ©ÛÛ …é Š¸Û›÷ ïéõ¤øÅÛÛ ¤øïõÛ ÐüÉÛé ? 

  (iii) ¶ÛÛ¨ÛÛ¶Ûä× ÍÛ¾ÛýÛ ¾ÛæÅýÛ ÉÛÛ ¾ÛÛ¤éø …ÜÍ©Û©ÈÛ µÛÁõÛÈÛé ™öé ? ïõÛÁõ¨ÛÛé …Û¸ÛÛé.  

  (iv) ÉÛæ¶ýÛ ïäõ¸Û¶Û ¼ÛÛé¶¦ø ÍÛ¾Û›ÛÈÛÛé. 
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 (c) •Û¾Ûé ©Ûé ªÛ¨Û¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) “ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ÜÍÛ±ùÛ×©Û …é ÈýÛÛ›÷ ÜÍÛ±ùÛ×©Û ™öé.” ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? 

  (ii) “½ÛÜÈÛÌýÛ ¾ÛæÅýÛ ÜÍÛ±ùÛ×©Û …é ÈÛ¤øÛÈÛ þùÁõ ÜÍÛ±ùÛ×©Û ™öé.” ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? 

  (iii) ˜Û’õÈÛèÜ±ù ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? 

  (iv) “½ÛÜÈÛÌýÛ ¾ÛæÅýÛ Ð×ü¾ÛéÉÛÛ ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ ™öé.” ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û×©Û 
™öÛé ? 

 

3. (a) ÁõÛé¼Û¤Ùø ï×õ¸Û¶Ûà ÜÅÛ. …éïõ ¾ÛÉÛà¶Û ”ÛÁõàþùÈÛÛ¶Ûä× ÜÈÛ˜ÛÛÁõà ÁõÐüà ™öé. ¼Ûé ¾ÛÛé¦éøÅÍÛ ‘X’ …¶Ûé ‘Y’ …¶Ûä’õ¾Ûé   
` 45 ÅÛÛ”Û …¶Ûé ` 60 ÅÛÛ”Û¾ÛÛ× Š¸ÛÅÛ¼µÛ ™öé. …Û ¾ÛÛé¦éøÅÍÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛµÛä ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé     
¸Ûó¾ÛÛ¨Ûé ™öé :   7 

(` ÅÛÛ”Û¾ÛÛ×) 
ÜÈÛ•Û©ÛÛé ÈÛÌÛÙ ‘X’ ‘Y’ ÈÛ©ÛÙ¾ÛÛ¶Û 

¾ÛæÅýÛ 
…ÈÛýÛÈÛ 

…ÛÜ¬ÛÙïõ …ÛýÛäÌýÛ (ÈÛÌÛÙ¾ÛÛ×) – 5 6 – 

½Û×•ÛÛÁõ Ýïõ¾Û©Û – 4 5 – 

…ÛÈÛïõ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü t1 10 12 0.893 

 t2 15 16 0.797 

 t3 20 20 0.712 

 t4 18 24 0.636 

 t5 17 21 0.567 

 t6 – 19 0.507 

  (i) ¸ÛÁõ©Û …¸Û ÍÛ¾ÛýÛ …¶Ûé (ii) ÉÛä±ù ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¸Û±ùÜ©Û¶ÛÛ …ÛµÛÛÁéõ ¼Û¶¶Ûé ýÛÛé›÷¶ÛÛ…Ûé¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û 
ïõÁõÛé. 

     …¬ÛÈÛÛ 

  ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûà ›÷ÄõÁõàýÛÛ©Û¶Ûé ¶Û‘õà ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë. 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (i) “…Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ” ÍÛ¾Û›ÛÈÛÛé. 

  (ii) “ïõÛ¾Û•ÛàÁõà ˜Û’õ” ÍÛ¾Û›ÛÈÛÛé. 

  (iii) “ïõÛ˜Ûà …¶Ûé ˜ÛÛé””Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà” ÍÛ¾Û›ÛÈÛÛé. 
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 (c) •Û¾Ûé ©Ûé ªÛ¨Û¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ÈÛ¤øÛÈÛ¶ÛÛé þùÁõ …é¤øÅÛé ÉÛä× ? 

  (ii) ÍÛÁéõÁõÛÉÛ ïõÛ˜ÛÛ ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ …¶Ûé ïõÛ˜ÛÛ ¾ÛÛÅÛ¶Ûà ÈÛÛÜÌÛÙïõ ÈÛ¸ÛÁõÛÉÛ …¶Ûä’õ¾Ûé ` 1,24,000 
…¶Ûé ` 8,42,000 ™öé. 365 ÜþùÈÛÍÛÛé µýÛÛ¶Û¾ÛÛ× ÅÛÛé. ïõÛ˜ÛÛ ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û¶ÛÛé ÈÛ¸ÛÁõÛÉÛ ÍÛ¾ÛýÛ 
ÉÛÛéµÛÛé. 

  (iii) ïõÛýÛ¾Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà …é¤ÅÛé ÉÛä× ? 

  (iv) …Ü©Û ¾Ûæ¦øàïõÁõ¨Û …é¤øÅÛé ÉÛä× ? 

 

4. (a) …éïõ ï×õ¸Û¶Ûà¶Ûà ÉÛéÁõ¾Ûæ¦øà ` 10,00,000 ¶Ûà ™öé ›÷é¶ÛÛ þùÁéõïõ ÉÛéÁõ¶Ûä× þùÛÉÛÙÜ¶Ûïõ ¾ÛæÅýÛ ` 50 ™öé. ï×õ¸Û¶Ûà 
¸ÛÛÍÛé 10% ¶ÛÛ ÈýÛÛ›÷¶ÛÛ þùÁõ¶Ûà Š™öà¶Ûà ¾Ûæ¦øà ` 5,00,000 ™öé. ï×õ¸Û¶Ûà¶Ûä× ÈÛé˜ÛÛ¨Û ÈÛÛÜÌÛÙïõ 3,00,000 
…éïõ¾ÛÛé¶Ûä× ™öé. ›÷é¶Ûà ÈÛé˜ÛÛ¨ÛÝïõ¾Û©Û …éïõ¾Û þùà¥ø ` 5 …¶Ûé …éïõ¾Û þùà¥ø ˜ÛÜÅÛ©Û ”Û˜ÛÙ ` 3 ™öé. ïõÛ¾Û•ÛàÁõà 
ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ ` 2,00,000 ™öé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 35% ™öé. ›Ûé ÈÛé˜ÛÛ¨Û¾ÛÛ× 20% ¶ÛÛé ÈÛµÛÛÁõÛé ¬ÛÛýÛ ©ÛÛé, 
•Û¨Û©ÛÁõà ïõÁõÛé   7 

  (i) ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà¾ÛÛ× ïéõ¤øÅÛÛé ÈÛµÛÛÁõÛé ¬ÛÉÛé ? 

  (ii) ¼Û¶¶Ûé ÍÛ¸ÛÛ¤øà ¾ÛÛ¤éø ïõÛ¾Û•ÛàÁõà …¶Ûé ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷¶Ûà ïõ“ÛÛ. 

    …¬ÛÈÛÛ 

  ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶ÛÛé ‘˜ÛÛé””Ûà …ÛÈÛïõ¶ÛÛé …Ü½Û•Û¾Û’ ˜Û˜ÛÛë. 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (i) ÉÛéÁõ¶Ûà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û ` 10 ™öé …¶Ûé Í¤øÛéïõ ¼Û›ÛÁõ¾ÛÛ× ©Ûé¶ÛÛé ÉÛéÁõþùà¥ø ` 50 ÅÛé”Ûé ÈÛé¸ÛÛÁõ ¬ÛÛýÛ 
™öé. ÈÛ©ÛÙ¾ÛÛ¶Û Ü¦øÜÈÛ¦ø¶¦ø þùÁõ 50% ™öé ›÷é ÈÛÛÜÌÛÙïõ 5% ¶ÛÛ ÜÍ¬ÛÁõ þùÁéõ ÈÛèÜ±ù ¸ÛÛ¾ÛÉÛé. ˆÜîÈÛ¤øà¶Ûà 
¸Û¦ø©ÛÁõ •Û¨ÛÛé.  

  (ii) ¸ÛÁõ©Û ïõÁõÈÛÛ ¸ÛÛªÛ þéùÈÛÛ¶Ûà ¸Û¦ø©ÛÁõ ©Û¾Ûé ïéõÈÛà Áõà©Ûé •Û¨ÛÉÛÛé ? 

  (iii) ˆÜîÈÛ¤øà ÉÛéÁõ¶ÛÛ ºõÛýÛþùÛ ˜Û˜ÛÛë. 

  (iv) ÜÍ¬ÛÁõ Ü¦øÜÈÛ¦ø¶¦ø ¶ÛàÜ©Û ÍÛ¾Û›ÛÈÛÛé.  

 (c) •Û¾Ûé ©Ûé ªÛ¨Û¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (i) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶ÛÛ ÄõÜ§ø•Û©Û …Ü½Û•Û¾Û¶ÛÛé ÍÛ×þéùÉÛ ÉÛä× ™öé ? 

  (ii) ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¾Ûæ¦øà ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? 

  (iii) ¶ÛÛ¨ÛÛïõàýÛ ›Ûé”Û¾Û …é¤øÅÛé ÉÛä× ? 

  (iv) ÁõÛ”Ûà ¾ÛæïéõÅÛ ïõ¾ÛÛ¨Ûà¶Ûé ïõˆ ¸Û¦ø©ÛÁõ ÅÛÛ•Ûä ¸Û¦øÉÛé ? •ÛÜ½ÛÙ©Û ïéõ ÈýÛî©Û ? 
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5. ¶Ûà˜Ûé ›÷¨ÛÛÈÛéÅÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ× ™öé ïéõ ”ÛÛé¤øÛ× ©Ûé ›÷¨ÛÛÈÛÛé : 14 

 (i) ¶ÛºõÛ¶ÛÛ ¾ÛÐü«Û¾ÛàïõÁõ¨Û¶ÛÛé Š°éùÉÛ ÍÛ×¸ÛÜ«Û ¾ÛÐü«Û¾ÛàïõÁõ¨Û¶ÛÛ Š°éùÉÛ ïõÁõ©ÛÛ× ˜ÛÜ§øýÛÛ©ÛÛé ™öé. 

 (ii) …ÛµÛäÜ¶Ûïõ ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× ºõïõ©Û ¶ÛÛ¨ÛÛ ¸ÛóÛÜ¸©Û …¶Ûé ÁõÛéïõÛ¨Û Ü¶Û¨ÛÙýÛ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  

 (iii) ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ¶Ûä× ÍÛæªÛ = ÈÛ.¾Ûæ. = 
½Û.¾Ûæ.

(1 + n)r  

 (iv) ¶ÛÛ¨ÛÛ¶Ûä× ÍÛ¾ÛýÛ ¾ÛæÅýÛ …é ºõïõ©Û ¶ÛÛ¨ÛÛ¶ÛÛ ¾ÛæÅýÛ ÈÛµÛÛÁõÛ ÍÛÛ¬Ûé ÍÛ×¼Û×µÛ µÛÁõÛÈÛé ™öé. 

 (v) ¸ÛÁõ©Û …¸Û ÍÛ¾ÛýÛ ˜ÛÛé””ÛÛ ¶ÛºõÛ¶ÛÛ …ÛµÛÛÁéõ ÉÛÛéµÛÛýÛ ™öé. 

 (vi) þùÁõ”ÛÛÍ©Û¶ÛÛé ÍÈÛàïõÛÁõ ïõÁõÈÛÛ ¾ÛÛ¤éø ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ, …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛ þùÁõ ïõÁõ©ÛÛ× ¶Ûà˜Ûà ›÷ ÐüÛéÈÛà 
›Ûéˆ…é. 

 (vii) ˆÜîÈÛ¤øà …¶Ûé ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ ¶Û‘õà ïõÁõÈÛÛ ¾ÛÛ¤éø ÈÛéÁõÛ¶ÛÛé þùÁõ µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¾ÛÛ× 
…ÛÈÛ©ÛÛé ¶Û¬Ûà. 

 (viii) ˜ÛÛé””Ûà ïõÛ¾Û•ÛàÁõà …ÛÈÛïõ¶ÛÛ× …Ü½Û•Û¾Û ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶ÛÛ Ü¶Û¨ÛÙýÛ ÍÛÛ¬Ûé …ÍÛ×•Û©Û ™öé. 

 (ix) ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ ÈÛé̃ ÛÛ¨Û …¶Ûé ÈýÛÛ›÷ …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ¶Ûà ïõ¾ÛÛ¨Ûà ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÍÛ¾Û›ÛÈÛé ™öé. 

 (x) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé þéùÈÛÛ¶Ûà ¸Û¦ø©ÛÁõ …é ˆÜîÈÛ¤øà¶Ûà ¸Û¦ø©ÛÁõ ïõÁõ©ÛÛ× …Ûé™öà ÐüÛéýÛ ™öé. 

 (xi) Ü¦øÜÈÛ¦ø¶¦ø¶Ûà ÈÛÐêü˜Û¨Ûà ïõÁõÈÛÛ ºõïõ©Û ÈÛÐêü˜Û¨Ûà¸ÛÛªÛ ¶ÛºõÛ¶ÛÛé ›÷ Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé. 

 (xii) •ÛÛé¦Ùø¶Û ÈÛèÜ±ù ¾ÛæÅýÛÛ×ïõ¶Û ¾ÛÛé¦éøÅÛ Ü¦øÜÈÛ¦ø¶¦ø ˜ÛæïõÈÛ¨Ûà¶Ûà ©ÛÁõºéõ¨Û ïõÐéü ™öé. 

 (xiii) Ü¦ø¼Ûé¶˜ÛÁõ, ¼ÛÛé¶¦øÍÛ …¶Ûé ¾Ûäþù©Ûà ÅÛÛé¶Û¶ÛÛ ÍÈÛÄõ¸Ûé þéùÈÛä Œ½Ûä× ïõÁõà ÉÛïõÛýÛ ™öé. 

 (xiv) ¼Ûé¶ïõ ïéõÉÛ ’éõ¦øà¤ø …é ÅÛÛ×¼ÛÛ•ÛÛÇÛ ¶ÛÛ¨ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶Û ¶Û¬Ûà. 
_____________ 
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1. (a) Discuss  traditional and modern views of Financial Management. 7 

OR 
  Explain different objectives of Financial Management. 

 (b) Attempt any two :  4 

  (i) Liquidity V/s Profitability 

  (ii) Finance Decision 

  (iii) Role of Financial Manager 

 (c) Attempt any three :  3 

  (i) What is Financial Management ? 

  (ii) What is Corporate Financing ? 

  (iii) “The role of Financial Manager is to create Funds only.” Do you agree with 
this statement ? 

  (iv) “Liquidity and profitability are conflicting objectives.” Do you agree with 
this statement ? 

 

2. (a) Explain concept of “Time Value of Money”. 7 

OR 

  Discuss concept of “Risk and Return”. 

 (b) Attempt any two :  4 

  (i) Explain nominal rate of interest. 

  (ii) The price per bond of Zankar Ltd. is ` 180, the bond has a par value of ` 200, 
a coupon rate of 14% and a maturity period of 6 years. What is the yield to 
maturity ? 

  (iii) Why does time value of money exists ? Give reasons. 

  (iv) Explain zero coupon bond. 
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 (c) Attempt any three :  3 

  (i) “Present value theory is interest theory.” Do you agree with this statement ? 

  (ii) “Future value theory is discount factor theory.” Do you agree with this 
statement ? 

  (iii) What is compound value ? 

  (iv) “Future value is always greater than present value.” Do you agree with this 
statement ? 

 

3. (a) Robert company Ltd. is considering to purchase of a Machine. Two models ‘X’ and 
‘Y’ are offered at prices of ` 45 lakhs and ` 60 lakhs respectively. Further 
particulars regarding these models are as follows : 7 

(` lakhs) 
Particulars Year ‘X’ ‘Y’ P.V. 

Factor 

Economic life (years) – 5 6 – 

Scrap value – 4 5 – 

Cash inflows t1 10 12 0.893 

 t2 15 16 0.797 

 t3 20 20 0.712 

 t4 18 24 0.636 

 t5 17 21 0.567 

 t6 – 19 0.507 

  Evaluate the two proposals under (i) Pay back period and (ii) Net present value 
methods. 

OR 

  Discuss factors determining working capital requirements. 

 (b) Attempt any two :  4 

  (i) “Internal rate of return.” Explain. 

  (ii) Explain “Operating cycle”. 

  (iii) Explain “Gross and Net working capital”. 
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 (c) Attempt any three :  3 

  (i) What is discount factor ? 

  (ii) Average stock of Raw materials and Raw material consumption per annum 
are ` 1,24,000 and ` 8,42,000 respectively. Consider 365 days. Calculate 
Raw material consumption period. 

  (iii) What is permanent working capital ? 

  (iv) Explain overcapitalization. 

 

4. (a) The share capital of a company is ` 10,00,000 with shares of face value of ` 50. 
The company has debt capital of ` 5,00,000 at 10% rate of interest. The sales of the 
firm are 3,00,000 units per annum at selling price of ` 5 per unit and variable cost 
per unit ` 3. The operating fixed cost amount to ` 2,00,000. Tax bracket is 35%. If 
the sales increase by 20%, calculate 7 

  (i) Percentage increase in earning per share 

  (ii) Degree of operating and financial leverages at the two levels 

OR 

  Discuss ‘Net Income Approach’ of Capital structure. 

 (b) Attempt any two :  4 

  (i) A Face value of a share is ` 10 and are quoted at ` 50 in the stock market. 
Current rate of dividend is 50% and this is expected to grow at a steady rate 
of 5% p.a. Calculate the cost of equity. 

  (ii) How would you determine cost of redeemable debt ? 

  (iii) Discuss benefits of equity shares. 

  (iv) Explain stable dividend policy. 

 (c) Attempt any three :  3 

  (i) What is the message of traditional theory of capital structure ? 

  (ii) What is weighted average cost of capital ? 

  (iii) What is Financial risk ? 

  (iv) Which cost is applicable to retained earnings ? Explicit or Implicit ? 
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5. Whether the following statements are true or false : 14 

 (i) Profit maximization goal is superior to wealth maximization goal. 

 (ii) Modern Financial Management includes only Finance and Investment decision. 

 (iii) The formula of present value is PV = 
FV

(1 + n)r  

 (iv) Time value of Money deals only with appreciation of money. 

 (v) Pay back period is calculated on Net profit. 

 (vi) Cost of capital has to be less than internal rate of return to accept proposal. 

 (vii) To determine cost of equity and preference share capital, corporate tax rate is not 
considered. 

 (viii) Net operating approach – explains irrelevance of capital structure decision. 

 (ix) Operating leverage – explain the relationship between Sales and EBIT. 

 (x) Generally cost of debenture is less than cost of equity. 

 (xi) Only divisible profit can be used to distribute dividend. 

 (xii) Gordon Growth Valuation Model favours dividend payment.  

 (xiii) Debts can be raised in the form of debentures, bonds and term loans. 

 (xiv) Bank cash credit is not long term source of Finance. 
_____________ 
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